
Installation Procedure: 
1) Begin by mounting the bottom body bracket to the rack via the 1/4-20 x 3/4” machine screws.
2) Slide the top body bracket over the offset of the bottom body bracket and attach to the rack via the 

1/4-20 x 3/4” machine screws (see Detail A).
3) Attach the joining bracket on the front of the bodies using the #8 x 3/8” tapping screws (see Detail C).
4) Hang the doors by lining up the offset tabs with the slots in the side of the bodies (see Detail B).

Note: The doors can be installed on either side of the vertical body; thus you can choose the direction 
you want the door to open.

Rack Vertical Cable Manager - Installation

DETAIL  A
SCALE 1/1.5

DETAIL  B
SCALE 2 / 3

DETAIL  C
SCALE 1 / 2

A

B

C

PROJECT

PART NUMBER

SCALEDATE

AUTHOR 

ENGINEERED SYSTEMS
R.F.MOTE LTD

214 NEWKIRK RD.
RICHMOND HILL, ONTARIO

L4C 3G7
PHONE (905) 884-5250
FAX   (905) 737-5188

REV

SHEET  1   OF  1 

 01

RFM-RVCM-B
The information contained herewithin is proprietary
and confidential to R.F.MOTE LTD.
It may not be reproduced or further disseminated,
in whole or in part, without prior written consent from
R.F.MOTE LTD.

1/26/2017

MW

WEIGHT

24.961 lbmass1/4

Installation Procedure:
 
1. Begin by mounting the bottom body bracket to the rack via the 1/4"-20 x 3/4" machine screws. 
2. Slide the top body bracket over the offset of the bottom body bracket and attach to the rack via
the 1/4"-20 x 3/4" machine screws (see Detail A).
3. Attach the joining bracket on the front of the bodies as shown in Detail C using the #8 tapping screws.
4. Hang the doors by lining up the offset tabs with the slots in the side of the bodies as shown in 
Detail B. 
 
Note: The doors can be installed on either side - thus you can choose the direction you want the door 
to open. 

Top Body Bracket

Bottom Body Bracket

Joining Bracket

Offset fits inside Top Body Bracket

Door tabs line up with slots
on body brackets

DETAIL  A
SCALE 1/1.5

DETAIL  B
SCALE 2 / 3

DETAIL  C
SCALE 1 / 2

A

B

C

PROJECT

PART NUMBER

SCALEDATE

AUTHOR 

ENGINEERED SYSTEMS
R.F.MOTE LTD

214 NEWKIRK RD.
RICHMOND HILL, ONTARIO

L4C 3G7
PHONE (905) 884-5250
FAX   (905) 737-5188

REV

SHEET  1   OF  1 

 01

RFM-RVCM-B
The information contained herewithin is proprietary
and confidential to R.F.MOTE LTD.
It may not be reproduced or further disseminated,
in whole or in part, without prior written consent from
R.F.MOTE LTD.

1/26/2017

MW

WEIGHT

24.961 lbmass1/4

Installation Procedure:
 
1. Begin by mounting the bottom body bracket to the rack via the 1/4"-20 x 3/4" machine screws. 
2. Slide the top body bracket over the offset of the bottom body bracket and attach to the rack via
the 1/4"-20 x 3/4" machine screws (see Detail A).
3. Attach the joining bracket on the front of the bodies as shown in Detail C using the #8 tapping screws.
4. Hang the doors by lining up the offset tabs with the slots in the side of the bodies as shown in 
Detail B. 
 
Note: The doors can be installed on either side - thus you can choose the direction you want the door 
to open. 

Top Body Bracket

Bottom Body Bracket

Joining Bracket

Offset fits inside Top Body Bracket

Door tabs line up with slots
on body brackets

DETAIL  A
SCALE 1/1.5

DETAIL  B
SCALE 2 / 3

DETAIL  C
SCALE 1 / 2

A

B

C

PROJECT

PART NUMBER

SCALEDATE

AUTHOR 

ENGINEERED SYSTEMS
R.F.MOTE LTD

214 NEWKIRK RD.
RICHMOND HILL, ONTARIO

L4C 3G7
PHONE (905) 884-5250
FAX   (905) 737-5188

REV

SHEET  1   OF  1 

 01

RFM-RVCM-B
The information contained herewithin is proprietary
and confidential to R.F.MOTE LTD.
It may not be reproduced or further disseminated,
in whole or in part, without prior written consent from
R.F.MOTE LTD.

1/26/2017

MW

WEIGHT

24.961 lbmass1/4

Installation Procedure:
 
1. Begin by mounting the bottom body bracket to the rack via the 1/4"-20 x 3/4" machine screws. 
2. Slide the top body bracket over the offset of the bottom body bracket and attach to the rack via
the 1/4"-20 x 3/4" machine screws (see Detail A).
3. Attach the joining bracket on the front of the bodies as shown in Detail C using the #8 tapping screws.
4. Hang the doors by lining up the offset tabs with the slots in the side of the bodies as shown in 
Detail B. 
 
Note: The doors can be installed on either side - thus you can choose the direction you want the door 
to open. 

Top Body Bracket

Bottom Body Bracket

Joining Bracket

Offset fits inside Top Body Bracket

Door tabs line up with slots
on body brackets

1-905-884-5250
www.rfmote.com
info@rfmote.com

Top Body Bracket
Detail  A

Bottom Body Bracket

Detail  C

Offset fits inside 
Top Body Bracket

Detail  B

Door tabs line up with 
slots on body brackets

Joining Bracket


